EARAZROREIERT — 2 N—XBISY —F 2017578 13H () 7EI%HA2H

KW S RCO# C9 ¥5%—M (xwlw | lmEmml - |5 @) o 8
[AE4£] 17%&:180,000  ~ 2#&:42,000” ~ 33%&:18,000 M . 43%&:13,000 53 :9,000
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
118l10| H>~v—7x>7> 75 | EERA e 3-3-3-2 |35 — | 1 | 52 if:%%ﬁﬂ‘ ()
L:Urh—r BNVE-TFT (49) #H BhE
s S IR :30. =)= . — HOEEZ (%R
2|55l ¥a—~Y~ 44 2l 1280 2-2-2-1 | 39.5 2 tg? el A
RTLAITLTYIN BELI L TN—F ZYAINT 7 — L
} pr— . o1 _ FEERET (B4
3111 A=U=X it 4 iy 1.(330).6 1-1-1-3 | 40.3 6 ;1_5;6) il A
R:xA1ZGr7—R ¥ aTyH— X @A
— ~ < P W THZ : -8-7- — IR E (%)
s 6| TINIETI /A T4 %0 (17'35?5) 875 ) 391 > ;‘_152) At EBE B
R:7—974—-Z B:TT)—- TJ7=—bElTp—L
o = . HBEB/Z . —5—4— — KBEK (5
sl7]s| 77 7Nt 4 | BER | e |wal - s | 0 AEER
exrov/x€F B XXXHL> YA 77—L4
o BERE A : —4-5- - BB/ (&%
cBs| 7z 1275 R A IR LS | e
L:hFEXY BRE2—Hy hUIh BEAT 7 —L
. o= NG : —7-8— - EEERERA (S5HA)
"l > DI E T b R e (11'31'/‘5 8788 1402 ! ;ﬁ EHEat :
Rid—h4 B:O—XTH— %H# WH
= . AIFEHE] :31. —5-6- . - IRRZE (%)
g8lglg|Y=v77I—Y— s O 56.0 1(/731:? S 40T 8 ?_558) M-E4: B
L2917 hA—F7—FK—K B:H—%vy hET— Wt RS &y K
s BijFnt :31. -9-9- . — BEHEER (5H3)
9l7!7 g9 79099 4 6 = 1(731t)9 9-9-9-9 | 39.6 10 (11717) o) ;—:—Z;T'
R:g=Z/F¥LLy b B:RYLOYLTF— FEUE DS
P 4 5 | EHEE 1:32.9 10-10-10-10| 40.0 | — 9 473 | BAREE (%8)
10 4|H77v0 56.0 5) +1) ") 77—;(\#6*‘/“3‘/
R:TAIVKRTy a2 B:TFAFILIL— ¢ HET77—L
® 1—F—@EBIERL
1T=7r= 1,5,10,3,9,8,6,2,7,4
20—F— 1,5,10,3,(8.,9),2,6,7,4
§a=7r= 1,5,10,8,3,9,6,2,7,4
40—F— 5,10,1,8,6,3,9,2,7,4
[ N5
B 10 1909 714K 5-10 150M e E 5-8 260 JEE 1-5-10 1,660
B B 10 1504 1-10 670 B = 5-10 2204 EE 10-5-1 3,970
5 100M 1-5 1,040M B H 10-5 400/
1 360M

ABICOVWTRDTEEERROODE. TR LIV,



